HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm

No| MIEH |IBEA e & T RELT S = i
1 BHINER 0.06 - - _

2 BiREEER 0.07 - - -

3 5 KREEDFER 0.07 - 0.07 0.07
4| 2R6H | BIER 0.07 - 0.07 -

5 ﬂlzi’ LE R 0.06 - - -

6 BI/NER 0.07 - 0.07 -

7 o B/NERR 0.06 - - -

8| 2R7H TBIRNERR 0.07 - 0.07 0.07
9| 2A28 | #E |KEBENMERK 0.07 - 0.08 0.07
10| 2H88 | AIFE [AIREREGPER 0.05 - - 0.08
11 PR EERR 0.07 - - -

12 2A1E | s BUR/NERR 0.08 - 0.08 0.08
13 KIE/NERR 0.08 - - -

14 BN 0.09 - - -

N = 50cm

No| BIFER |[#X%£ W % B ST AR = %
1 BEINER 0.06 - — _

2 BIRESEER 0.07 - - -

3 5 KEE/NFER 0.06 - 0.06 0.07
4 2A218 | % [E/hER 0.06 - 0.06 -

5 ilizﬂ LE GE 0.06 - - -

6 Bl/hER 0.07 - 0.06 -

7 th BN 0.06 - - -

8| 2A22H IR INERR 0.06 - 0.06 0.07
9| 2A208 | MM |KEBNER 0.07 - 0.08 0.08
10| 28278 | AIFE [AIREREPER 0.05 - - 0.06
11 PR AR 0.07 - - -

12 2A16E | HE ﬁiﬁ/]\?#{c 0.08 - 0.07 0.08
13 KIFINFERR 0.08 - - -

14 TN FERR 0.10 - -

BIES: 7OAWRENUFL—2ar AP —_AAA—H(TCS—172)




